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Large TPCs: <Y - Yfit >
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Large TPCs : < X - Xf_t >
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Averaged over X and Y
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Residuals for Z-position
Total Residuals of all the chambers [ VTPC1 VTPC2 MTPCS ] respectively.
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Large TPCs: <X-X >and<Y - Y >
fit it

Averaged over X>0and AY

—i— Y>10cm

—¥— -10cm<Y<10cm

—4— Y <-10cm

= ety - 1= SHRRRIRE = = - < - o T - -

-400 =200 0 200 400 600 800
Z (cm)

o
o

<Y-Y, >(cm)
o
=
[&)]

-0.15

_O__%

—i— Y>10cm

—¥— -10cm<Y<10cm

—4— Y <-10cm

-M-g-m------m--

L [
-400 -200 0 200 400 600 800
Z (cm)

o
o



VTPCL: X - X,
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VTPC1 RMS Residual distribution
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VTPC2 RMS Residual distribution
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RMS X - X, (cm)

© o o o
S
N D O ®
TTT TTT TTT TTT TTT TTT TTT TTT
FFrTT I I I I I I |

o
ia

0.08

0.06

0.04

0.02

MTPCL RMS Residual distribution

o

&

N
III|III|III|III|III|III|III|III|III|III|II||

o

20 25 5
Sector no

25

Sector no



RMS X - X, (cm)

MTPCR RMS Residual distribution
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